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e The serial numbers of test booklet and OMR answer sheet
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e - All pages of test booklet and OMR answer sheet are
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there in the question booklet.
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Answer all questions.

All questions carry equal marks.
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one answers are marked, it would be treated as WIONg answer.

1/3 part of the mark(s) of each question will be

deducted for sach wrong answer. A wrong answer means

an incorrect answer or more than one answers for any
question, Leaving all the relevant circles or bubbles of any
question blank will not be considered as wrong answer.

7. Each guestion has four alternative responses marked serially
as (A), (B), (C), (D). You have to darken only one circleor
bubble indicating the correct answer on the Answer Sheet
using BLUE BALL POINT PEN,

8. Use of Mobile Phone/Bluetooth Devices or any other
electronic gadget in the examination hall is strictly prohibited.
If any such prohibited material found with any candidate,
strict action will be taken against him/her as per rule.

9. Ifthere is any sort of ambiguity/mistake either of printing
or factual nature in Hindi and English Version of the question,
the English Version will be treated as standard.

Warning : If a candidate is found copying or if any unauthorized

material is found in his/her possession, F.LR. would be lodged

against himv/her in the Police Station and he/she would liable to be
prosecuted under Section 3 of the State Prevention of Unfair

Means Act, 1992 and Board Regulations. Board may also debar
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Match List-I with List-II and select the
correct answer from the codes given
below the lists :

-1 =t gh-11 3 o gife ot w |

i % fie fog g § @ wd s
List—1/ List—-IX/
gl -1 gt - 11
a. Citric Acid / 1. Butter/
,, fafess s HaEa
b. Butaric Acid/ 2. Lemon/
2 I A
c. AceticAcid/ 3. Milk/
wHifew e Ty
d. LacticAcid/ 4. Vinegar/
afses are e
Codes / 92 ¢
a b c d
(A 2 1 4 3
B 1‘ 2 3 4
< 2 1 3 4
(D) 4 3 2 |

Which instrument is used to magnify
very small objects ? ‘

(A) Hydroscope  (B) Electroscope
(C) Periscope (D) Microscope
i gEm Tegatt & el % fore feg 93

w1 3uaT fFa ST @ 7
(A) BRERRIY (B) TR
(C) =i (D) TTERTRT

Night-blindness is caused by deficiency
of

(A) Vitamin C
(C) Vitamin K

(B) Vitamin A
(D) Vitamin B

AT LGS AT RS NI TARED WA YLD AR S A HERSNE rssnrnt

EGICH o opef) % wmRoT e R |
(A) farftm ¢ (B) Rraifim A
() kK (D) frefim B

[

>3

4.

Heart muscles are

(A) Involuntary and Striated
(B) Striated and Voluntary
(C) Unstriated and Voluntary
(D) None of these

FeT 1 IR § -

(A) s it ifea

(B) f&m st WRos

(C) Nfea o e

(D) ¥ & i e

Which of the following is the sweetest
sugar ?

(A) Fructose
(C) Sucrose

(B) Glucose
(D) Maltose

feddsnd v P o d
(A) BRI (B) R
(C) gH (D) wears

In bumans, what is the main cause of
anaemia ?

(A) Deficiency of Iron

(B) Deficiency of Vitamin D

(C) Deficiency of Vitamin E

(D) Deficiency of Vitamin K

aal A, TRefora () 1 g s
R 7

(A) deHEh

(B) Refim D &

(C) Torerfim B 6 wft

(D) Treifim K &) s

BCG vaccination is given to prevent
disease in infants.

(A) T.B. (B) Cholera

(C) Malaria (D) Diphtheria
&t Jeen st @) U 3 =
ggRmamrg |

(A) €4, (B) TR

(C) "y (D) fewdfan

164B

Match List-I (Mahajanpadas) with List-II
(Capital) and choose the correct option
from the given codes :

-1 (wErug) w5 geft-1 () &

Ty gRferg s T e e wel % AT W
List—1 / g1 List-II / gehi-11
(Mahajanpadas) / (Capital) /
(FETSTIE) (e
a. Kashi/ 1. Vaighali/
- HEl Surreft
b. Anga/ 2.  Varanasi/ .
3 FROOTE?
c. Vajji/ 3. Kausambi/
Eiic R
d. Vatsa/ 4.  Champa/
ER3 et
Codes /%2 :
a b ¢ d
(A) 4 3 2 1
B 2 4 1 3
Cc 3 4 2 1
o 1 3 4 2

Which of the following is the correct
chronological order for the construction
of these monuments 7

T T BT I (I F HEEHATAR
feidsmasradit ¢
i.  Taj Mahal/
TNTHES
ii, India Gate/
3o e =
iii. Fatehpur Sikri/
HAE Hiel
iv. Agra Fort/
JFTT Temen
(A) 1, iv, i, 1
(C) i, 4, 1v, i

(B) iv, i, i, ii
(D) ii, i, iv, iii
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16.

11.

12.

Which of the following pairs is correctly

matched ?

ﬁmﬁﬁ%% e gHah ga R 7
Nagananda Harsha /
TR —

2. Mudrarakshasa — Visakhadatta /
ErEE — fvmraea

3. Mrichchhakatika — Sudraka /

4. Ratnavali — Rajasekhara /

- B
Select the correct answer from the codes
given below :

3 R e e & v e R
(A) 1,2,3 B) 2,3,4
) 1,3,4 D) 1,2,3,4

The Mughal Ruler who spent 15 years in
exile was

(A) Babur (B) Humayun

(C) Akbar (D) Jahangir

et T e 15 forarter & e s e
(A) TR (B) T

(C) F&™ (D) SN

The greatest achievement of Raja
Rammohan Roy in the field of Social

reform was abolition of satiin__ A.D.
w8 ud v @ SAEE U
T T ) FrETies guR & 8 | a9
& Iuefay off |

(A) 1929 (B) 1729

(C) 1829 (D) 1928

What is the correct sequence of the
following events ?

e s afi w7
1.  Cabinet Mission /
Fiee firem
2. Cripps Mission /
fopem e |
3. Lord Wavell’s Proposal /
e 99 weard
4, Mountbatten Plan /
TEEaT AT
(A) 4,2,1,3 B) 2,3,1,4
() 3,4,2,1 D) 1,3,4,2



14.

is.

16.

17.

Hindu founded in

qgg el

Mahasabha was
oG WETHHT ! T

(A) 1917 (B) 1916
(C) 1915 (D) 1815

Who out of the following was elected by
the Constituent Assembly as its
Constitutional Advisor ?

(A) Dr. Rajendra Prasad

(B) B.N.Rao

(C) J.L. Nehru

(D) Vallabhbhai Patel _

e % 9 e dfem e g oS
AT TATEHR o ©7 T A 7T AT 7
(A) ST, TSFg J9E (B) ST T

(C) A.TA. JEE (D) FeeravTE Tee

The Right to Education was mserted in
Indian Constitution by :
(A) 44™ Amendment
(B) 86™ Amendment
(C) 31° Amendment
(D) 91 Amendment

& gRT TG wiaar § e
FfeeRr 3r=a: i o |
(A) 448 @3 (B) §69 gxiem
(C) 313 @Mes (D) 919 H3nuw

The order in which the following
personalities were elected as Vice-
President of India is

ﬁ?ﬁﬁm%w%mwﬁ

gﬁ T T ER R
Dr. Zakir Hussain /
gl SRR ga
2. V.V.Giri/
kil

3. K.R.Narayanan/

. . AEH

~ 4, Dr.B.D. Jatti/

& .21, o)

DRSS SO T s AT TN SIS

TSRS SIS TR ARSI

18. Given below are two statements labelled

19.

T (R)

as Assertion (A) and Reason (R). In the
context of the two statements, which of
the following is correct 7

Assertion (A) : India is Democratic.
Reason (R) : India has a Constitution
of its own.

(A) Both (A) and (R) true and (R) is the
correct explanation of (A).

(B) Both (A) and (R) true, but (R) is not
the correct explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A)is false, but (R) is true.

r few w2 el w1 AR (A) 3

T (R) % &g d fafgg e g 1@

geell el AP i a e w7

FANFYT (A) TG AT 8 |

: URA HT AT W W

,_ oy R |

(A) (4) 3 ®) aﬁ’af“'r w & 3 (R), (A)
Had e g |

(B) (A) 3R (R) &I & &, T (R), (A)
6 g s T E |

(©) (A)TF B, 757 (R) IR ¥ |

(D) (A) FE 8, TR (R) TR |

Who among the following is directly

responsible to Parliament for all matters

concerning the Defence Services of India ?

(A) President

(B) Prime Minister

(C) Cabinet Committee on Political
Affairs

(D) Defence Minister

S @ o sy =6t Ta vl @ i

aef et & fore geas w9 8 que % uiy

IEE R 7

() Tgafa
(B) werwst
(C) Triferes amet Y e wiufy
(D) & wf
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20.

NITI Aayog, in partnership with Bill and
Melinda Gates Foundation launched -

- (A) Poshan Gyan (B) Anamya

(C) Aashaar Kranti (D) Tika Utsav

- Rfer I 3 e wE Aot gy wieveE

(A) U

21.

22.

23.

104B

3wy wyrfierdt & s feRn
(B) 3=y
(C) smErwR (D) et 3|y

In Indian Constitution, Article 338-B-
National Commission for Backward
Classes was inserted by —

(A) 102 Amendment Act, 2018

(B) 104 Amendment Act, 2020

(C) 105 Amendment Act, 2021

(D) 103 Amendment Act, 2019

e Gy # ST 338-B - e &
% fore o s oranfiE femen T
(A) 102 weem rffRm, 2018 g1

(B) 104 g arffaem, 2020 gro

(C) 105 wene= ferfmm, 2021 g

(D) 103 wne sfirfam, 2019 g0

Deccan Plateau is mainly made up of
(A) Limestone = (B) Basalt

(C) Sandstone (D) None of these
THA TST JEIG: I BIAT &

(A) =T (B) dTee

(C) STeTerA (D) T 8 1E TE

Which of the following does not belong
to biosphere reserves set up so far ?

(A) Sunderbans

(B) Great Nicobar

(C) Nanda Devi

(D) Gulf of Kuchchh

= § ¥ H w1 3" T I SeHsd
e & wfer i g 7

(A) g5t (B) I Frplem

(C) e (D) %5 H T

25.

26.

24, Which of the following states touches the

boundary of four nations ?

(A) Assam

(B) Uttar Pradesh

(C) Nagaland

(D) None of these

frer @ @ Topw Toa Y g =W U A
dsi A gh g ¥ ¢
(A) &%

(C) FTvE

(B) IE I
(D) o & =S e

Which one of the following places
receives the maximum sunlight in
December ?

(A) Kanyakumari (B) Kolkata

(C) Leh (D) Pune

o wE § 3 w9 w oww e @

1ferehen G- TSl T ST § 7

(A) SEFAT (B) I
©) e (D) g
Match the Columns / =
gﬁﬁwﬁ
~ Bhilai/ 1. Jharkhand /
foremg INES
b. Durgapur/ 2. Odisha/
LR anfesm
c. Rourkela/ 3. Chhattisgarh/
d. Jamshedpur/ 4. Uttar Pradesh/
SHRIEY JHIE
5. West Bengal/
ufges s
Codes /%2 ¢
a b c d
(A) 1 2 3 4
B) 2 4 1 5
< 2 4 1 3
®) 3 5 2 1



27. Which of the following arrangements is
- correct according to their locations from

28.

29,

north to south mountain ranges ?

e 4 9 =i a1 sreeT I d ey vdd

SEEIHA! % I7h! Tty & orEn aft

27

1. Karakoram/ 2. Ladakh/
HRHIH Srcec Ol

3. Zanskar/. 4. Pir Panjal /
= LRSS

(A) 2,3,4,1 B) 1,4,3,2

(C) 1,2,3,4 D) 2,4,1,3

The Tropic of Cancer passes through
(A) Maharashtra
(B) Uttar Pradesh
(C) Andhra Pradesh
(D) Madhya Pradesh

T W@ B B
(A) w&ITg (B) IR WeH
(C) 3779 9= (D) Heg e

Karnataka’s Mandalapatti hills (which
were in news) are blossoming with the
blue flowers, which blooms once every

12 years. Name this flowers. ?

(A) Nilgiris (B) Neelakurinji
!
(C) Neelpushp (D) None of these g
e 1 HSTIE! Tad (W gureari & o) |
i
%

H R AT, Ry A i |

!
T SR G T 8 | g A ||
(A) et (B) frampish §
(©) e gsT ©) FHawE |

6

30. Ministry

31.

32.

of Road Transport and

Highways has notified Bharat Series

(“BH” series) of registration. BH series

will be available on voluntary basis to

(A) Defense Personnel

(B) Government employees

(C) Employee of Private sector
companies which have their offices
in four or more states/UTs.

(D) All of these.

TEH AT T TSN T 3 Gohientor
1 wra €10 (‘BH i) siftrgfim
2 | BH s e onum W Iuersy g9l
(A) @ wRE =

(B) T weniEl =

(C) vwigae 83 Y 9g Hula], Res anar

st Tsgl / Sy wifta wew A
S 8, % sdut )|
EE

Meiraba Luwang Maisam, who was in
the news recently, is related with which

sports ? v

(A) Tennis (B) Chess

(C) Shooting (D) Badminton

e ar Sewm A @ g £ 5 == A o,
FaaudEfa g ?

(A) = (B) v

(C) Fremassh (D) dshien

Recently which ministry launched

NIPUN Bharat Programme, a National

Mission on Foundational Literacy and

Numeracy (FLN) ?

(A) Ministry of Education

(B) Ministry of Parliamentary Affairs

(C) Ministry of Science and Technology

(D) Ministry of Information and
Broadcasting

T @ 4 foha Harerd 3 figw (NIPUN) Wi
T, TS AT TE S WH (FLN)
R OET e sy e 7

(A) Toe wEmem

(B) wud % waTer

- (C) s wE Dk Taer

(D) YT T SER HHT |
104B

33.

34.

35.

104B

Recently, who was appointed as the
Chairman of National Commission for
Minorities ?

(A) Suresh N. Patel’

(B) Igbal Singh Lalpura

(C) K. Sivan

(D) None of these

BT 1 1 TP STeaEs ST Tee TR
s Fopem o 7

(A Q. W

(B) gepaTer g @eIqy
(C) . fa=m
(D) T A HE T

Which app has been launched by Flipkart
to enable Indians to start their online
businesses without any investment by
sharing catalogues ?

(A) Shopsy (B) Myntra

(C) Meesho - (D) Ajio

e 7E g OF T T WU ST SRR 1
et wren g e TEa A ATTE
SEET Y& H 6 glagr g @

(A) Tt (B) =

(C) (D) T

Which bank has become the first bank in
the country to achieve the milestone of
issuing 1 crore FASTags ?

(A) State Bank of India

(B) Federal Bank

(C) Paytm Payment Bank Limited

(D) ICICI Bank

1 HU BN T HH H a8 TH

SHAGTEAT S 1 TUT S B GTFAT 7
(A) R S 3T 3

(B) & §5

(C) Wum A= F= fafies

(D) e €218 €. 7%, &%

36.

NGRS PAUSBSTS IS SUNEINEYD SHEHEIAES IS AINIRES GV WP SRS RSB

" (A) RIL

37.

38.

The country’s single-largest solar
photovoltaic project at Rann of Kuchchh
region in Khavda, Gujarat will be

‘constructed through

T, T o He0 8% 5 W § N H

THAT FEE S I e qiEeEn w1

Fmtm % g foman s |

(B) NTPC-REL

(C) NHPC (D) PGCIL

Essential Defence Service Bill, 2021

passed by the Parliament that allows the

Central Government to  prohibit
in units engaged in essential

defence services. :

(A) Strikes (B) Lock-outs

(C) Lay-offs (D) All of these

TEE TR0 UTE TR T SIS T W

srtufrm, 2021, S g TR B ATEES
T Jared § onht sl W £l
TR F@ w1 AHR T R |
(A) BT (B) TSl

e
(C) o-21T® (D) 3 aft

India’s first COVID-19 vaccine to get
approval for children above 12 years :

(A) Sputnik (B) ZyCoV-D

(C) Covishield (D) Covaxin ‘
12 = % S % sl 3 o STgHIEH TETen
TGl 1 9 g 19 T 8

(A) Tl (B) TS~

(C) wrdisfiee (D) iaw

reraTfaa’ Sree fRpg uTE o1 TR R 7

(A) Teges ®) T
(C) HHUR™ (D) e

e Rrreg d Reim gm R 2

(A) wrgE - fomg (B) Hrame — Hwl
(C) 378w — € (D) HYH — FET

7 \



41.

42.

43.

44.

45.

Torg Toremen o wreg-gm = o1df-92 ol W
87

oG- s¥-9
(A) TETE-TEE - T —wE
(B) T~ ~  fRm-=me
(C) ITAH-TEANH —  HAUU-TRATESA
(D) 9TI-9TE ~ %~

‘el W1 HT T HT T TS BT GEER 61
e B -

(A) 57 ST e |

®) Ramwd fowmag
(C) ITHT & TgoT I |

(D) 3Tt e ST |

TR S g A P § S g e
g7

(A) Treeh! firaTS ST YT g1 €T ST |
(B) # 1ol =T % wadier % fora & g |

(C) T IR~ THEO F |

(D) T zmwm i v arglg 6

o s <6 fore g g wefss T &

(A) Uy o oo %@ Tver - fsmer

B) & wass fowy o IRl &) - oy

(C) "W 7€M § TH R BN awen -
HEATHT

(D) TE q@ AT — G

Frfafea wedl W fRm Hifv
(1) e (2) #weh
(3) wnfem (4) IFA
fru frer d o rg g 7
(A) 1,233 (B) 134
(C) 334 (D) ug ot

=]

VORI TS NS NSRRI TTHETANRS WATSKSD TIeRREAAS YT TN S5 VKRR VIS

46, T Y e v 5 ah-Ryede wd T8
g7
(A) Fhafdt =35 + 3
(B) THMY = TH + 3T
(C) TR =a1: +7
(D) afEne = afva + o™

47, Torm faepe o ot rsg vreaR wataereh) @
g7 .

(&) T, g, T4 |

(B) i, el weerfepet

(C) war, i, 2ty

(D) T, vt et

48. = 1 @ fpu fawew ¥ wft wedt F 3wt
AT T (ST) BT AT BT 7
(A) ITTETEEE, AU
(B) wTEIe], TYUA
(C) reitfsrenar, wamayes
(D) st freaa

fra fepey & aiich ufnfyess wreg w1
gy et witniyes weg @l } 7

(A) Adverse — 3TFE.

(B) Inexpedient — T NEEM

(C) Probation — gitEfta
(D) Symposium — A&

B
hd

foru forereq & ‘Foresight’ ¥16¢ T THEHA
&) mienes wgwdl R 2

(A) graffar (B) g
(C) gk (D) fe=a

U
=
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. Comprehension of Unseen Passage

Nature writing is non-fiction or fiction prose or
poetry about the natural environment. Nature
writing encompasses a wide variety of works,
ranging from those that place primary emphasis
on natural historical facts (such as field guides)
to those in which philosophical interpretation
predominate. It includes natural history essays,
poetry, essays of solitude or escape, as well as
travel and adventure writing.

Nature writing often draws heavily on
scientific information and facts about the
natural world; at the same time, it is frequently
written in the first person and incorporates
personal observations- of and philosophical
reflections upon nature.

Modern nature writing traces its roots to the
works of natural history that were popular in
the second half of the 18" century and
throughout the 19™. An important early figure
was the “parson-naturalist” Gilbert White
(1720 — 1793), a pioneering English naturalist
and ornithologist. He is best known for his
Natural History and Antiquities of Selborne
(1789).

Read the passage and choose the most
appropriate option. (Q. No. 51 — 55)

51. Nature writing emphasizes on
(1) Historical facts about the nature
(ii) Philosophical interpretations of the

nature.

(iii) Scientific information and facts
Choose the most appropriate option :
(A) None of these .
(B) Only (i) and (ii) ’
(C) All (i), (ii) and (iii)
(D) Only (ii) and (iii)

52. Based on the passage what is period to
which the modern nature writing can be
traced to 7
(A) 18501il1 1999 (B) 1850 to 1899
(C) 175011 1899 (D) 1750 till 1900

104B
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54.

55.

Which statement summarizes the above

passage ? , v

(A) Thé passage talks about the life and
lessons of Gilbert White, a profound
naturalist and ornithologist.

(B) The passage talks about how the
nature writing is missing in the
modern era and needs to be revived.

(C) The passage talks about from where
the writers draw inspiration for
nature  writing, and how its
importance is diminishing in the
modern era.

(D) The passage talks about what nature
writing is, the different types of

- nature writing, its style, and about
the roots and pioneer of modern
nature writing.

Which word aptly describes the word
“reflections” as used in the passage ?
(A) Opinion (B) Reproduction
(C) Images (D) None of these

According to the passage, what kind

of works are written as part of nature

writing ?

(i) Natural history essays and essays of
solitude or escape ‘

(ii) Poetry

(iii) Travel and adventure writing

Choose the correct options :

(A) Only (i)

(B) Only (i) and (i)

(C) Only (i) and (iii)

(D) All(), (ii) and (iii)

In the given sentence, find out which part
of the sentence has an error. If there is no
mistake, then the answer is ‘No Error’.

Posture refers to how you position your

body when you're sitting, standing, or

lying down.

(A) Posture refers to

(B) how you position your body

(C) when you’re sitting, standing, or lying
down. ‘

(D) No error

A



57.

58.

59.

60.

61.

In the given sentence, find out which part
of the sentence has an error. If there is no
mistake, then the answer is ‘No Error’.

Last month, the Taliban capture 69 district
from the Afghan government.

(A) Last month, the Taliban

(B) capture 69 district

- {C) from the Afghan government.

(D) No Error

o)

Give Synonym of : Baleful &
(A) Uncovered (B) Ruinous
(C) Gentle (D) Trial

Give Antonym of : Quell
(A) Contract (B) Incite
(C) Recommend (D) Praise

Give meaning of Idiom : Cry Wolf
(A) Toreferto

(B) To emphasise

(C) To have no result

(D) To give false alarm

In the following letter series, some of the
letters are missing which are given in that
order as one of the alternatives below it.

12 & 77 orar Sof # o SRR 9w ¥, 7R

e T R & & P e o ol

ERERCCIKCIE Y
b _abba abbba aab bbaa _aa
Choose the correct alternative :

TE faereq w1 =9 iR -
(A) babba (B) aabba
(C) aaaba (D) baaab

v O TR UKD THIRBHSLOP SERNGS WUIELS WSSO STUBHEOD TRITIAEOR VOIS

10

62.

63.

From the given pairs of words, you have
to select the pair which is closely related
in the same way as the words of the first
pair.

DOCTOR : STETHOSCOPE

i;&) Gun : Tank

(B) Typewriter : Computer

(C) Pencil : Pen

(D) Carpenter : Saw

3 T vl % gl § W ST 36 I
I B B )UYW P % W o a@ w
fehe wu @ wefom 8

(3 o
‘EW . 9 P
. s .

(A) GH :
(B) TR : AL
OREC:E
(D) w3 : 3l

Choose the group of letters which is
different from others.

& I GG BT B o 9 =
g1

(A) GFE (B) CBA

(C) TRP (D) LKJ

Which letter will be 7% to the left of 17%
letter from the left end in English
alphabetical series ?

il aufmrer sjEe § T SR 179 318w
¥ el 3R w1 7aT JEWHH WA ?
(A) 1 (B) M
© Q (D) K
104B

Read the given passage and amswer the
questions (65 to 67) that follows based on
passage :

Wind is an inexhaustible source of energy and
an aero-generator can convert it into electricity.
Though not much has so far been done in this
field, the survey shows that there is a vast
potential for developing wind as an alternative
source of energy. The wind survey has four
components — direction, duration, speed and

distribution. On this basis U.P. hill areas have

been found an ideal place for setting up aero-
generators. In U.P. hills alone, as many as 58
sites have been identified. ,

(659 67) % I AT

1Y T T Tk 78R B § 3T O s g
o # wfefa = awar § | goite @ an A
wITET % 1€ foran e B, wderr fgaran & fop oy
! Jwfcas S @ & w9 § foeslia s
IR GWEFTE § | T wawer % IR U § ~
femn, wwEmaty, wfy 3 fewr | g IR W
FREE ® i w6 % e 2., % gEd
a1 1 2nEy TUW % T H 9 T ¥ |
3.9, % ydal W wH-8-%9 58 el @ fafm
frm g | |

65. The survey was conducted under the
government of U.P.
(A) Data inadequate
(B) Probably true
(C) Probably false
(D) Definitely true

3.3, TR 3 e weor Ho R e ¢ | 70-

(A) STIWEE  (B) Y& HE

(C) gve: el (D) PR seawd
66. Energy by wind is a comparatively new

emerging field.

(A) Definitely false

(B) Data inadequate

(C) Definitely true
(D) Probably false

TG S STUGTRRT T I TN & 8
(A) Fffaseamem  (B) ser ™
() Fiaseaod (D) 9vaa: T9q

104B

|
|
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67.

68.

69.

58 sites identified in U.P. did not have
electricity.

(A) Probably true

(B) Definitely true

(C) Data inadequate

(D) Definitely false

3.9 9 fufda 58 el w forga Suermy A

ot |
(A) svem: @€l (B) Miemsadud
(C) STamEm (D) Fitwasudem

Pointing to a lady, a man said, “The son
of her only brother is the brother of my
wife”. How is the lady related to the
man ?

(A) Mother’s sister (B) Maternal aunt
(C) Mother-in-law (D) None of these

e STIGHT = Toh AR Y 3T §97R1 %d §Q
FE “IHF FHAD TS BT T, A gl

W R | ke et @ Rew e el

?7
(A) wifrsgr (B) uoh
(C) @™ (D) 38 ¥ %15 7E!

If ‘ACT’ is coded as “DFW, how will you
code ‘BAD’ 7
afe ‘ACT’ %! ‘DFW’ %fea fran man 8, &

39 ‘BAD’ T 52 1 §RA 7
(A) EDG (B) GDC
(C) GHU (D) VCR

Shyam walked 6 metres towards East,
then took a right turn and walked a
distance 9 metres. He then took a right
turn and walked a distance of 6 metres.
How far is he from the starting point ?
(A) 15 metres (B) 9 metres

(C) 21 metres (D) None of these

v O w1 AR 6 et e, R et oTk
gge 9 Hier T | R @ 8 g 3R
T 6 e =rel | 98 Yo fog & Reaft

e ?
(A) 1541 (B) 9HIX
(C) 21 et (D) 3 Y 1S 7E

&



71.

72.

73.

Seven friends P, Q, R, S, T, U and V are
sitting around a circular table facing the
centre. R is next to the left of U and V is
second to the left of R. P is sitting third to
the left of T. Q is between S and T.
What is the position of U ?

(A) Fourth to the right of S

(B) Uisbetween Vand R.

(C) To the immediate left of R

(D) Immediate neighbour of P

T G P, Q,R, S, T, U 3R V &5 &
3 T o i B S A E
UHIs TR RIINRFIFATEAV
I TS TR AR A RP IR 1S TE
THAAQE |

USSR R TAE ?

(A) ST T

(B) VIR RFAAUR |

(C) R TchTd S/

(D) P &1 fepeam g

Raj is positioned 10® from the left and
Atul is positioned 8" from the right in a
row of 15 students. How many students
are between them ?

15@5&@@?&5%@3@%10&%
g 3R e g8 | 89 W W R | b
T et Fora B E 7

(A) 15 (B) 0

(OGN D) 1

Which one of the given responses would
be a meaningful order of the following
words ?

o wregt w1 ot e e s A @
aﬁamwz‘m ? .
Pulp/ 2. Print/
T el
3. Paper/ 4. Purchase/
EAUEN &Y
5. Publish/
BEJLE)

(4) 1,3,2,5,4  (B) 1,4,3,
(€) 1,5,2,4,3 1,3,5

TSI NSRS IHEAES OB THNEIITES VNNEONIES TSI FIDVNGD TANSDINGS WA SSRGS

12

74.

75.

76.

Which letter will come in the bottom

- portion of the last figure 7

rfm aepfa % Frest wm d =19 |1 aR
A 7

(A) O
©) S

BT
Oy Uu

Supply the right letters for the Questmn

Mark (?) :

wei g (7) % fore w@l s e

AZ,BY,?,DV,ET,FS

(A) CO (B) CW

) CY (D) None of these /
5T 9 i3 TE

From the given pairs of words, you have
to select the pair which is closely related
in the same way as the words of the first
pair :

GOOD : EXCELLENT ::

(A) Jealousy : Happy

(B) Sickness : Doctor

(C) Hill : Mountain

(D) Bad: Good

o T wsg] % gl ° @ o1 39 W

= T § S T I F I h 0w @
ﬁmm@w&a%

st - 9

(4) g

(B) ey ; Fafereass

(C) el vela

(D) g : 3=

Choose the odd one out from the given
alternatives.

fe e Ryeedi 3 4 fmm sl g7 |
(A) 1521 (B) 26-38
(C) 58-70 (D) 74-88

104B

78.

79.

80.

81.

Which letter will be 9% to the right of 16"
letter from left end in English
alphabetical series 7

mmﬁméﬁz%%&?ﬁwma&
T 98 G FIERT ?

(A) A B Y

(C) E D) U

Pointing to a boy, Narmada says, “He is
the son of my grandfather’s only child”.
How is the boy related to her 7

(A) Cousin (B) Uncle.

(C) Brother (D) None of these
Tsh TG < 3T TR 0 BT HeT A Hal
“grg T gTeT Sf) o geheltdl TaR ST gE 87 |
g eTeen! 399 fra yer wefm g 7

(A) S5 (B) 3T=d

(©) wiE (D) ¥ & B 7l

If ‘COFFEE’ is coded as ‘EEFFOC, how
will you code NODULE 7 -
g% ‘COFFEE’ ! *EEFFOC’ Sfea R

T R, @ 3 ‘NODULE’ &1 f5a usr

(A) ELUDON (B) NOLESO
(C) ESLDND (D) ELUDNO

Amit walked 40 metres towards west and
took a left turn and walked 40 metres. He
then took a left turn and walked 40 metres
and again took a right turn and walked 40
metres. How far is Amit now from the
starting point 7

(A) 80 metres (B} 60 metres

(C) 70 metres {D) None of these
a1t ufvem &Y 3R 40 et wen i wd

e 40 Hier 3fit = | 5t a8 srff ok

- [T 3R 40 Het Tew, 3 gE @ g

1048

IR gER 40 e wen | aPm, e
o fiig @ Reeht g g ¢

() 807 (B) 60 Hiex

(©) 707 (D) ¥ & 1 T

83.
| - ‘blue’,

In a school, there were five teéchers, A
and B were teaching Sanskrit and Maths.
C and B were teaching Maths and
History. D and A were teaching Hindi
and Sanskrit. E and B were teaching
Geography and Spanish.

More than two teachers were teaching
which subjects 7

(A) Sanskrit (B) Hindi

(C) History (D) None of these
TS SRS § U1 ST 9 | A 3B 9EEA
v T ver & | C 3 B i wE e
TR 9 | D SR A T ve swpa v 9 |
EsfiByiwi s @fwowgr & 1 g1 8
iR ST i W A Ugk 9 7

(A) HEFT ® &
(©) s (D) ¥ & T

If ‘black’ means ‘pink’, ‘pink’ means
‘blue’ means ‘white’, ‘white’
means ‘yellow’, ‘yellow’ means ‘red’
and ‘red’ means ‘brown’, then what is the
colour of clear sky 7

(A) Pink (B) Blue

(C) Red (D) Brown

a%mwaﬁ%waﬁ"m
3 g fer, fer w5 o

{ g

(A) TeTslt (B) e
(C) &= D) {U
Which one of the given responses would
be a meaningful order of the following
words 7 L
o wregt ot eredqel e R U S| 6 9@
I T TH F 7
1. Yearly/ 2. Fortnightly /
EHE | EHEE
3. Monthly/ 4. Daily/
W!%"d i HEED
5. Weekly/
HTHTIEH
(A) 4,1,5,3,2 B) 4,5,2,3,1
(C) 4,2,3,5,1 (D) 2,5,4,3, 1
y



8s.

86‘

87.

88.

89.

Select the appropriate number to replace
the Question Mark (7).

e g (7)) 9 Thenfe 58 % R
W%Wa‘aﬁlﬁq

(©) 32

48-12x3+9

(B) 17
(D) 100

12-9+3
(A) 1/9 (B) 1/3
(C) 773 () 4/3
If the average of 53, 63, x, 41, 78, 26 is
52, then find the value of x.
4 53, 63, x, 41, 78, 26 1 30w 52 8, @
xﬁ?mﬁﬁw !
(A) 51
(C) 53

If a sum of ¥ 53 is divided among P, Q
and R in such a way that P gets ¥ 7 more
than Q and Q gets ¥ 8 more than R gets,-
the ratio of their shares ig

IR T3 oA P, QuE R fiw 5@

yeR wrer e R PRl Q B T 7 ey By

3R Q&I R ¥ 7 8 surey ey, aY 391 o7

o1 YT 8 ~
(A) 16:17:19
(C) 21:10:22

(B) 25:18:10
(D) N@@e of these /
T § Wi e

‘Two cones have their heights in the ratio
~of1:3 andradii 3 :

1. The ratio of their
volumes is ;

3 AT = I w1 e 1 3 R ok
Breati s 3: 1 ¥ | 399 17 %1 SraT
g: |

(A) 3:1
(C) 1:3

(B) 2:3
(D) 1:1

(B) 52 m
D) 50

93.

o
L

TNGD TS TS TURIGRCR SSRGS VSSRGS NS M TGS WA D

sk
P =%

90.

91.

92.

(©) 15

Anil after spending 84% of his income,
saves ¥ 24 every month. What is his
monthly income ?

I 7T 3T T 84% 9T HW F qE
yRmEz 4 saarg | wﬁw@&mm
27

(A) 7280 (B) %250

(C) %150 (D) %180

How much time will it take for an amount

of ¥ 450 to yield ¥ 81 as interest at 4.5%

per annum of simple interest ?
S%W%Wmaﬁmsaaﬁ

TR W T 81 %1 T I % e e wme
I ?

(A) 4.6 years/a‘éf’ (B) 6 years /=9
(C) 3.6 years/ EL (D) 4 years /a9
The difference between the compound
interest and the simple interest on a

certain sum at 10% per annum for 2 years
is¥ 52. The sum is :

s ffeg ufr w 10% Rl ey 2
ST S BT ST SR Ty s % wey
HARRE T 52, AURR -~

(A) 710,408 (B) 5,200

(C) %3,980 (D) %2,680

12 monkeys can eat 12 bananas in
12 min. In how many minutes can
4 monkeys eat 4 bananas ?

I RERI I T e R

4954 e Fram Pre e osd & 7
(A) 40 (B) 80

Dy 12

A seller marks his geeds 20 percent
higher than cost price and allows a

discount. of 5 percen‘i‘ The percentage
proﬁt is :

e Rt 7 STEGHT %Y T g4 & 20
s IR 3ifeRa wtar B ofit 5 wiowma &t
WA R | W™ T wfawe R -

(A) 15 (B) 26
) 6 D) None of these /
T 9 %15 T8

104B

95,

96.

97.

98.

A seller sells one transistor for ¥ 846 at a
gain of 20% and another for ¥ 966 at a
loss of 4%. His total gain or loss percent is

1 :
(A) 5 % Yo gain  (B) 6 Eg‘ % gain

Cy 5 %‘g % loss (D) None of these

e ok W 2Rt W T 846 W TR

L 20% 1 1Y ARG ST 8 3 GER A
¥ 966 9T Ty WL 4% 6 T I3 R
IEEHT A AT ST FI TIwr 7 -

A) Swé%"@ﬁﬁ (B) 6%%@;
© Sﬁ%'@ﬁ (D) T8 A %13 T
T+7+TxT=7

(A) 677 (B) 14 %
(C) 50/7 (D) 44

The area of a rectangle is 252 cm? and its
length and breadth are in the ratio of 9 : 7
respectively, What is its perimeter ?

T I BT BABS 252 cm? § IR IwH

mﬁ@ﬁgﬁw;g:?%mﬁ%
A ST TRET T R ?

(A) 64cm (B) 90 cm
(©) 60cm (D) 120 cm

The population of a town increases 5%
annually. If its present population is
74970, what it was 2 years ago ?

T TR 6! SEE e 5% 9 wgdl § |
afe Suh! ST SHEET 749708, @299
o fepert ot 7

(A) 72090
(C) 68000

(B) 63165
(D) 64290

1048

99.

VeSS TS S OIS WIHAIENO TS WRTNATS NI "WARSTANDS AR TS OIS

15

100.

161.

If 200% of a number is 90, then what is
the 80% of that number 7

fe el v =1 200% & 90, & € w@m
%7 80% TeramT BT 7
(A) 36

(C) 74

B) 96
(D) None of these/

T A %S T

3 men and 4 boys do a piece of work in
8 days, while 4 men and 4 boys finish it
in 6 days. 2 men and 4 boys will finish it
in

(A) 19 days (B) 16 days

(C) 12 days (D) 18 days

3 el 3R 4 T1gh Tk e % el 1 8
rdwwE, walts 4 e st 4 oeh
6 RAT T E | 2 TEH! 3T 4 TEH
T HG

(A) 19fi® (B) 16 d

(©) 12feAt A (D) 18 et A

Find the average of the following set of
Scores.

o wraTen! % e w1 aitad e iR |
966, 361, 189, 248, 460, 826, 528, 230
(A) 476 (B) 505

(C) 464 (D) 528

. A rectangular water tank is 8 m high, 6 m

long and 2.5 m wide. How many litres of
water can it hold ?

(A) 12088 litres  (B) 1208 litres

(C) 120000 litres (D) 1209 litres

T ISR I b &bt 8 oY, =, 6 .

et 3 2.5 . = 7 | g fran e
oY T R R § 7 |
(A) 12088 %fler  (B) 1208 &fiet
(C) 120000 (D) 1209 #iX
A



Direction : (Questions 103 to 105) : Study
the following information carefully and
answer the given questions.

Fréw (997 103 9 105) : FrfRaa geamai s
wrgEes ¢ U T et w1 3w A |

- A word arrangement machine, when given an
input line of words, rearranges them
following a particular rule in each step. The
following is an illustration of input and the
steps of rearrangement.

s Wreg T el ) o wed) oY o
& T B 79 98 v = § ue faln fam
T ITTEW 9 I8 O SR e | | Raw
3R Y- SHE AT %1 U Serety friffaa §
Input / : Go for to Though By easy
SECH] To Access at
StepI/ : Access Go for to Though By
PO easy To at
StepII/ : Access at Go for to Though
[T 11 - By easy To
StepIll/ : Access at By Go for to
|1 111 Though easy To
StepIV/ : Access at By easy Go for to
O IV -~ Though To
StepV/ : Access at By easy for Go to
EIURAY ~ Though To
Step VI/ . Access at By easy for Go
CIURAY Though to To
Step VII/ : Access at By easy for Go
LT VII Though To to

~ And Step VI is the last step for this input.

i VIL 38 Few w srfRm s g |

As per the rules followed in the above steps,
find out in the given questions the appropriate
step for the given input.

Sodien St 3 TR P ¥ sET B e
 fo e v < e e =it s 6 -
A

1@3

[
ol
&N

| HRSOARID AR TN ST Y SSHASNED RS NI TRANANTS A ODE PIIADD HSINGS

[y
=)

104.

105.

-

. Which of

Input : every and peer to an for

- Which of the following steps would be

‘an and every for peer to’ ?
faw: every and peer to an for

‘an and every for peer to’ fr=fafga @
I T =0T ERT ?

(A) 1M ,  (B) IV
v (D) None ‘of these/

: T | T
Input : Together over series on feast the

80

‘Which of the following steps will be the

last but one ?
489 : Together over series on feast the

50

o= =or @ arfRm @ waen o S

g ?

(A) 1 B) IV

v (D) None of these /
- T A HE

Ix%put : Over Go For through at one

‘Which step will be the last step of the

above input ?

8w : Over Go For through at one
Ik AT ST 3T =R @i |1 R 7
Aav B) VI

(C) viI (D) None of these/

T A IS T

the following is/are
characteristics of Computer ?
(A) Diligence (B) Versatility

(C) Accuracy (D) All of these

e 1 @ = oft shwget Y arfireneforsen /¢
8/8 7
(A) SRt (B) wgaet
(C) wétma (D) F=ft
104B

107.

108.

Display Card is used for the purpose of

(A) Sending graphics data to output unit

(B) Receiving graphlcs data from output
unit

(C) Sending graphics data to input unit

(D) None of these

feet 1S w1 37w 3@ Sevw % g B B -

(A) ITEGE Y &I Tihad B W9 *
o | |

(B) 3T3TYe A & ITfpee 32 W & &
for |

©) w@@m@m%ma

(D) FHYHE ‘

__ referstoa pre*ma,de images ready
for use in MS-Word documents.

(A) AutoFill (B) ClipArt

(C) WordArt (D) AutoShape

o T 7€ S § I & R
AN (ready for use) T@-Fiftfa gocha @

_ézfﬁa%l

(C) wE-a1é

109.

104B

(A) FTA-frer (B) TFem-a1i

(D) aTfR-d

Which input device is usually a standard
feature of laptops ?

(A) Graphic Tablet

(B) Alpha numeric Keyboard
(C) Touch pad _

(D) Magnetic Stripe reader -

e o @ = o) 3ge e TR Suci w1
T TR ?

(A) Tf%es Seie

(B) 3T~ Hl-aE

(©) wale

(D) Bafes wrgy {ist

TS NS NS WIS USROS TOLEINS TS RSSO VAR WARAOR

17

110.

Software in computer

(A) Accelerates speed of /O access

(B) Increase* the speed of Central
Processing Unit

(C) Can be utilized without supporting
hardware ’

(D) None of these

111.

S e
SHERET N HIFR

(A) /O wm Ry e S R |

(B) Trge wrefd gz i wragE g |
(C) =afén wrdaaT 3 fomn suam o R s
AT |

(D) T e A&

Which of the following is not true for a

magnetic disk ?

(A) The access time of magnetic disk is
much less than that of magnetic tape.

(B) It provides only sequential access to
stored data.

(C) It is expensive relative to magnetic
tape.

(D) All of these

wﬁﬁ%&%«w%mﬁmﬁﬁaﬁamm

TR ?

() e fews w1 wamw Trgn Aafess o
Hgedagasn g |

(B) g vieTha 821 W Haw TS
T ST R |

(C) ug Bfem Suh aen wEM & |

(D) Faft

is the ébility of the operating
system to run more than one application
at a time.
(A) Booting (B) Copping
(C) Pasting (D) Multitasking .
T B U TG § AT Tl
B HW T AR R H amar R
(A) g (B) wifum
(C) ufEmn (D) TedeEs
A



113.

114,

115.

116.

117.

Which file starts MS-Word ?

I € BTgeT MS-Word ) 8 HT 87
(A) wordexe = (B) msword.exe
(C) word356.exe (D) winword.exe

Your Excel 2007 file is stored with the
extension ”,

ATH  wHRE-2007 wEA ¢ ”

TFASYM o WY R B B |
(A) .docx (B) .xlsx
(C) xltx (D) .zltx

Special effects used to introduce slides in
a presentation are called

(A) Custom animation

(B) Effects

(C) Transition

(D) None of these ~

SIS H TETEE S T S o forg i
353 S I ST Sl HEAN §

(A) FRATERA  (B) shaeH

(©) THem (D) T A HE T

Outlook Express is a(n)- .
(A) Protocol (B) Browser
(C) Network (D) E-mail Client

IS T B T
(A) TR (B) TS
(C) Feush (D) $-T T

Which of the following is not an input
device 7

(A) Keyboard

(B) Video Display Unit

(C) Light pen

(D) Touch pad ,
[EEEE IR SRR
(A) HEE |
(B) =fea fewwmt g

(C) T

(D) TE g

TS DS TR ITE PALASTIR0 SIBNAHD TALNING) TSRS SRS RIS IS WA

18

118.

119.

EhR o Relegee

120.

121.

As compared to diskettes, the hard disks
(A) have low storage capacity.

(B) are more portable.

(C) are more expensive.

(D) are slower.'

e ) gorn 1, wre foww
(A) T WSTOT ST 9 B R |
(B) T eI BRI § |

(C) aims g St & 1

(D) iR ERE |

o
B

The resolution of the screen is indicated
by |
(A) dots

(C) pixels

(B) colors
(D) None of these

% g ffes fomn
S E |
(A) eic@
(C) fomae

(B) e
(D) T | 18 &

An Operating System is a
(A) Hardware (B) Sofiware
(C) Firmware (D) None of these

s AR ren
(A) TR (B) wfweaRR
(C) wHFR (D) T A HIE TE

In Rajasthan Hakat-Bahat types of land
on the basis of growing capacity means
(A) Land suitable for Irrigation &
Agriculture ’
(B) Farm land near to village (attached)
(C) Farms left uncultivated throughout

the year
(D) Land irrigated by canals

TSI & IeTE &I o TG T &
TR Fehel~Fed 1 37 B |

(A) e e i = forg 3o

(B) ite % wefta = i (demw)

(C) @yt &y @Wa ! fomr @t % oie

(D) e gru Rferer i
. 104B

122. In which of the following district

123.

124,

125.

104B

‘Chhappan Basin’ is there 7

(A) Banswara (B) Pali
(C) Alwar (D) Tonk
woE AR e RS AR, 9w d
(A) sigaTer (B) e
(C) e (D) 2w

What is ‘Damni’ in Marwar ?
(A) A type of folk song

(B) A type of odhani

(C) A type of dance

(D) None of these

ArETe ¥ ‘gl g 7

(A) T T 1 Sfwria

(B) T YR ) It

(C) T THR H1 T
(D) 578 & = 7

Founder of Kachhwaha dynasty was
(A) Dulhe Rai (B) Bharmal
(C) Jaisingh (D) Kokildev

HHITET THEY & TS 9
(A) TR (B) WRHEA
(C) wafls (D) wifrerca

The principal seat of ‘Rajasthan High
Court’ is at

(A) Jaipur (B) Tonk

(C) Jhalawar (D) Jodhpur

T T e’ e N wel R 7
@A) R B T

(C) WS (D) Sugt

pot
b
2

TN YO 3 TGRS IR Y WS WAIONSES SIS DS NSRS TR VTSRS

e
2

128.

1126. Match the following : -
Books / &I Writer / @&
a. Radha/ ~ 1. Sumer Singh
T ~ Shekhawat /
b. Maru-Mangal/ — 2. Harish Bhadani/
e -HITA gl e
c. Bathan Mein - 3. Satya Prakash
Bhugol / Joshi /
- e F e EIREEINES I
Codes / %2
a b ¢
A)yr 2 3
B)y3 1 2
© 2 3 1
oy3z 2 1
127. Which of the following in Rajasthan was

not the centre of the 1857 Revolt ?

(A) Jaipur (B) Neemuch

(C) Aauva (D) Ajmer
Frefafea & @ =9 @1 e goeE o
1857 Y shifey o1 e & o1 7

(A) St (B) ==

(C) Irar (D) IR

The dance performed by Garasia tribe is

(A) Shankaria  (B) Ghudla

(C) Panihari (D) Walar

e st gR foran s aren Fer @
(A) TRt (B) ggen

(C) afrgrd (D) FeR

. Which of the following pairs is incorrect ?

(A) Eklingji Temple — Udaipur

(B) Karni Mata Temple — Deshnok

(C) Sun Temple — Bharatpur

(D) Meerabai Temple — Chittorgarh, Merta

Fodasmo e ea g ?
(A) TRl HfeT — 3guge

(B) woft wra wfex — Sues

(C) 3 W — YA

(D) st wfe — Rretereg, dgan

A



130.

131.

132.

The correct chronological order of the

following battles fought by Rana Sanga

will be :
ww%ma@nﬁﬁmm@w
Hﬁwﬁm

Battle of Bayana /
ERICHETRGEH

2. Battle of Khatauli /
wTtel 6 T

3. Battle of Gagron/
TR I weTE

Code / 52 :
(A) 1,2,3 (B) 2,3,1
© 3,2,1 D) 1,3,2

When was the designation/post of
Rajpramukh abolished in Rajasthan ?
(A) 1®November, 1956

(B) 26™ January, 1950

(C) 15" May, 1949

(D) 18" April, 1948

T H T %1 9€ 8 G 57T 7
(A) 1788, 1956 =

(B) 26 S, 1950 %

(C) 158, 1949 %}

(D) 18 313, 1948 =1 |
Which of the following is m}t matched

correctly ?

- National Park District

(A) Sariska National - Alwar
Park

(B) Keoladeo Ghana - Karauli
National Park

(C) National Desert — Jaisalmer
Park

(D) Ranthambhor —  Sawai
National Park Madhopur

frefafea da R o siw g ¢
TE Ia™ e

(A) wREmTTERIEHE - I

(B) aeIeE T UEE — s
JEE

(C) TEH W% UM — SEe

(D) TR gy ~ AT
EGIC] TR

S

A SIS DT TR TN VAN WIS ST ST AL RN

133.

134.

135.

20

- (C) BT 171

. ‘Nimuchana Kisan Aandolan Massacre’

Match the following :

Prerforfias = gaRT -

a. Taragarh Fort/ — 1. Jodhpur /
g femen g

b. Jaigarh/ - 2. Ajmer/
TRTE : FHIHR

¢. Kirti Stambh / — 3. Chittorgarh /

- hifd ww

d. Mehrangarh Fort/ - 4. Jaipur/

BEUATE foher SRR
Codes /%2 :
a b ¢ d
(A)2 4 3 1
B1 2 3 4
©2 4 1 3
Dyt 3 4 2

The working area of ‘Sant Bhuri Bai
Alakh’ was

(A) Mewar (B) Vagad
(C) Gorwar (D) Marwar
i S 9TE orerE’ W HrieE o
(A) BeTE (B) aTTg
(C) Mears (D) WRETS

Which of the following Articles of Indian
Constitution is related thh tenure of
Governor 7

(A) Article 156
(C) Article 171

(B) Article 163
(D) Article 158

yre gfyum = fefefgg da s o

T TSIUTA % HRFS o Hafd & 7
(A) SR 156 (B) e 163
(D) =T 158

happened in which State of Rajputana ?
(A) Alwar (B) Mewar
(C) Bharatpur (D) Jaisalmer

“Freperon foram STEIeH TTRTE TS

= e farem d gam o ?
(A) @R (B) HaT8
(C) Wax (D) SwEN

- 104B

137. In whose court dld Nihalchand serve as si39 In General Elections, a person can use his

a/an court/official painter ?
(A) Sawant Singh

(B) Maharana Pratap

(C) Ram Singh

(D) Jai Singh ¢

EEm

- Terues g # Frerereg anfteifes /g

138.

AR % T H FRE D 7
(A) arag fog (B) HERIOT Jamq
(C) TmftE (D) raféE

Consider the following statements about
‘Hawa Mahal’ Jaipur and answer the
question as per the codes given as under:

1. Hawa Mahal is an five storeyed

- (A) 1&3

structure.
2. Hawa Mahal was built by Maharaja
Sawai Pratap Singh.
3. There are 983 casements or complex
designed decorative windows.
Which of the above given statement/s
about Hawa Mabhal is/are correct ?
B) 1&2
(C) 2&3 (D) 1,2&3
B RS SR % IR A el el
T frEm il st R Ry e ge T @ uw
H IR AN
1. ¥ e T uie SRen S g |
2. E91 HEE WEWST wars var g g
‘ EECIEIKIDIR |

3. gEWE O 983 TO@ I e Rt

| gTs 8 faefeai € )
B uge H R IR HeAI A g A

/A R/ 7

S(A) 133
’(C)23ﬁ13

1048

(B) 132
(D) 1,233

|

140.

voting right if
1. Heis the citizen of India

2. Not less than 18 years of age
3. Not be in any office of profit in
Government

31T FATEl §, Tk Safeh 370 TR W
YL T W B, afe

1. o ST w1 AT R

2. SH18 e A AE |

3. oRH o % e vg waEi A

Choose the correct answer :

) foeey w1 T Hifvw
(A) 1,2,3 (B) 1,3
() 2,3 D) 1,2

Who was the founder of the Kunda
Sect 7 \ ,

(A) Gogaji (B) Pabuyji

(C) Rao Ajeet Singh(D) Rao Mallinath
FE U H IO HA Y 7

(A) TSt (B) "t
(C) taashafe (D) Ty woeitmy

. Which type of Sarangi is played by the

Jogis of Alwar-Bharatpur 7

(A) Jogia Sarangi

(B) Sindhi Sarangi

(C) Sarangi of Jari

(D) Gujaratan Sarangi

AT~ MTAYT o R g ﬁsa T 6

greft s STt @ 2
(A) S wft
(C) Wt g

(B) et wrof
(D) TS g
A



142.

143.

Consider the following statements about
the Governor of Rajasthan :

1. He should be citizen of India.

2. Heshouldbe at least 35 years of age.

3. He should have competence to |

become Member of Lok Sabha.

4. He can be Govemor of more than
one State.

(A) 3 and 4 are correct.

(B) 1,2 and 4 are correct.

(C) 1,2 and 3 are correct.

(D) 2 and 3 are correct.

W%W@Wﬁmmw

[EERETIE I

1. 9 WRA T AW B =0T |

2. IO TG HA W HA 35 9 B AR |

3. 3T S W T TR 99 S AR
B =R |

4. 9% U ¥ Il a=E @ usue B
TEHA |

"Codes /%< :

(A) 3TaT4 i § |
(B) 1,23 4T ¥
(©) 1,23R3udE |
(D) 2% 3 W& E |

Which region in Rajasthan is known for
traditional art of printing of bel butey ?
(A) Bagmu - (B) Molela

(C) Sanganer (D) Bessi

TEAT 1 91 87 9 g2 ! B H

QT el & T S e ® 7
(A) T8 (B) Hiaer
(C) | (D) seht

RS VTS A S AN BT VST RIS ST TS TS SRS

144. Which of the following is not included in

the jurisdiction
Rajasthan ?

{A) Chief Minister

of Lokayukta in

{(B) Members of the service of the
corporations established by the State
of Rajasthan

{C) District Head

(D) Minister

fe ¥ RRd T % AETIE F
srityerm- g # wfthforg 7 e @ ¢

(A) T

(B) Ty Usg g T feat |
i

(C) et =1 gRgan
(D) ﬁrﬁ

. Suranga Fair of Hadoti is said to be —

(A) Ramdevra Fair

(B) Parbatsar Fair

(C) Pushkar Fair

(D) Chandrabhaga Fair

BTSN ST YT Ul SHET ST 3
(A) THSHT Bl Wi

(B) TR i )

(©) g AR

(D) AT A I

104B

146. Which; of ffhf: following pairs is correct 7 1148, The Chairman of RSHRC is appointed by :
Eﬁg}ﬁ&uﬁwm ’ Establishment (A) Governor on the recommendation of
(A) Ragégthaﬁ Sahitya — 28 January, 1958 Committee headed by Chief
Academy 5 Minister
(B iiéﬁéﬁﬂ Sanskrit — 25 August, 1969 | (B) Governor after getting the sanction
y ) of President -
(C) Rajasthan Brij — 19 January, 1982 .
Bhasha Academny / (C) Deliberately by Governor
(D) Rajasthan Hindi  — 15 July, 1980 (D) Governor with the advice of Chief
Minister
Granth Academy x>
ﬁwﬁ%ﬁqwgﬂaﬁ%? g;smc wm%fﬁﬁgﬁm 1 et
(A> T R - 28@%‘&@ 1958 (A) geelt st sremgra et afify A
JrepTeHt AT GTEITE g
" (B) mxﬁw WD - 25 37, 1969 (B) Tgwfa i el o % g T
Wl
© WW@WW ~ 19w, 1982 (C) r-ymgest TSITE g
- T STERTEHT (D) gEast <) TeTs Ot TSIaTe g
D) m%:«:ﬁ - 159, 1980 ,
T SyETEHt ' 149. Til Chauth {Saﬂka%: Chauth) is celebrated
o on
147. Select that group from the following (A) Bhac Bhadmpad Krishna Shashthi
groups who have taken oath as a Chief (B) Phalgun Shukla Ekadashi
Mmis_ter of Rajasthan for three or more (C) Kartik Shukla Ekadashi
occasions. ; r ;
(A) Bhairon Singh Shekhawat — Shiv %g@%}%ﬁ%}%ﬁ;ﬁ%
Charan Mathur — Haridev Joshi ;
(B) Mohanlal Sukhadia ~ Haridev Joshi (A) WTETE oo Wl ’
© ;{Xshok Gehig} (B) W7 RiET UEsTEnn
ainarayan vas — Mohanlal £ . A
Sukhadia — Ashok Gehlot (C) =riah T Thres
(D) Mohanlal Sukhadia — Hiralal Shastri (D) wmer For =ageff
— Vasundhara Raje - | :
ﬁmﬁﬁg@g@gmmwwﬁaﬁq ngi}. Who is the present Information .
7 31fes IEEd o T S e U | Commissioner to the Rajasthan State
6 sy = | g Information Commission ?
A) HiRiE 3 - R e — | (A) H.C. Meena
i (B) P.K. Tiwari
ghes s i (C) Devendra Bhushan Gupta
(B) Aigvee gEifedr — shes sﬁsﬁ - § (D) None of these
31911 TR i TSR TS AT ST o Saa ge
(C) TR T — Hrg-elel gaiedr — g SAHHAE 7
YT TR s (A) wad don (B) 9%, fuar
(D) HeFener g - e et - | = = P
RN § © YSOIET (D) 5 9 i
1048 23 A




